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B9 v i fx
A B = D B F G H | J K L M N
1 B 70 cm feq 14.1 MPa Ecu 0.0035
2 b 40 cm fyd 391.3 MPa Eyq 0.00196
3 H 90 cm
4
S Ay 6.28 cm’ des 5cm
2
6 Ax 52 |:I'|12 ds gsjcm Ricerca obiettivo ? X
7 Ay 9.42 cm dgy 85 cm
8 Imposta la cella: $GS$19 I
9 X . 6.55 cm L Al valore: 0
1 -
10 0.8X 5238526cm  |'s B ‘[&W (MKJJ Cambiando a cglla: | $559 *
11 b’ 68.3 cm .
12 A'c 362.1 cm2 = ) (o.8x)
= (o.8% J: @) (o oK Annulla
13 Ssup D = ) = | |
14 d'G 2.6 cm
LS Nc  -510.594 kN
L6 g, -0.000827 o3 -165.203 MPa Ns3 -103.747 kN MRd_3 -2.48 kNm
L7 g, 0.020553 (s 391.3 MPa Ns2 245.7364 kN MRd_2 104,17 kNm
L8 gy, 0.041933 Gy 391.3 MPa Ns1 368.6046 kN MRd_1 303.70 kNm
L9 Somma N 0.00 kN
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